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1. (p.22 chap2-3.1(b)) YRDHEL 1 IR AFEANZMRIT. (25 )

—3x1 —2x9 —6x3 +dbxy —4dxs = -7

x1 +x9 +4xs —4dxy +4z; =4
4x1 +2x9 +4x3 —214 =6

2. (p.47 4.2-Ex4 YO R I2BWT

(a) a1 =(2,1,0),a2 = (—1,0,1),a3 = (0,2, —2) 3K % 0T T & ZRE.
(b) a = (—5,—27 1) DEJE B = {al, as, a3} BT 2y & ke K.

(25 )

3. (p.60 4.5-Ex14 revised and same as 11.2) 7T A - Y23y bOERILIEIZ
E0, MORZ MVirs R OERERILE % F.

xz; = (1,1,1), 2z = (0,1,0), 3 = (—1,1,0)
(25 5)
4. (p.108 6.5-Ex12) R® DIFHER 72 BRI B3 % KBTI

0 -2 =2
A= -1 1 2
-1 -1 2

THHHIPLEH f O —IRITD AL D2 M Z KD L. (25 W)



